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1.  Choose the correct description for the end behavior of the function:  
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2.  Multiply:  
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3.  Solve by the quadratic formula:  
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4.  Simplify  
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5.  Add:  
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6.  Simplify  
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7. What is the product 
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 in simplest form?

8.  Find the value of 
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11.  Use synthetic division to find 
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12.  Determine where 
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 has any local maximum or local minimum values.

        A.    local maximum at 
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                B.  local maximum at 
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C.   local maximum at  
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            D.  local maximum at 38.19

                 local minimum at  38.19                      local minimum at 
[image: image46.wmf]10.36

-


13.  Solve 
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14.  Find all the zeros of the function.  
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15.  What is the simplest form of 
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16.  Find an equation for the cubic function g whose graph 
       is  shown. 
17.  Which of the following numbers is NOT in the list of possible rational zeros of 
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       A.  2               B.   –2             C.  –3               D.  
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18.  Which of the following is NOT a polynomial?

       A.     
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19.  Solve   
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	20. What does x equal in the solution    

of the system at the right?  

A.  0      B.  –2       C.  8      D.  2
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21.  Solve the system:  
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22.  Solve the system:  
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       A. infinitely many solutions      B. no solution      C.  Only ( 0, 2 )      D. can’t be determined

23.  Graph
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24.  Divide 
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25.  Solve for x and simplify the answers.   
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26.  Simplify:  
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27.  Use complex conjugates to write the quotient in a+bi form.
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28.  Simplify:  
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29.  What is the simplified form for 
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30. Simplify 
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32.  Simplify 
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33.  Which of the following choices best describes the number 
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      A.  Integer            B.   Imaginary            C.  Rational              D.  Irrational

34.  Simplify 
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 by rationalizing the denominator.

35.  Which of the following problems demonstrates the associative property of multiplication?

        A.  
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36.  Simplify:  
[image: image82.wmf]4

243

-

         A.  3       B.  –3       C.  –15      D.  Not a real number

37.  Solve:  
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38.  Solve:  
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39.  Solve:  
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          A.  1        B.  –12        C.  no real number solutions        D.  1, -12
40.  State the domain and range of 
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A.  domain: 
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41.  Express 
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42. What is the simplified form of 
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43.  Find the equations of the horizontal and vertical asymptotes of the equation 
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44.  Find the equations of the horizontal and vertical asymptotes of the equation 
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      A.    y = 0 ,  and 
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45.    If y is inversely proportional to x, and x = 60 when y = 2, find y when x = 12.
        A.    120            B.  30

  C.  1           D.   300
46.   If y is jointly proportional to x and z, and y = 18 when x = 4 and z = 8, find the constant of   

        proportionality.

                 A.  9/16          B.  16/9                   C.  1/2        
D. 4
47.  Loafin’ Joes has opened a new location on 6th street.  They offer a choice of 6 different breads, 3 meats, and 8 different toppings for their sandwiches.  How many different sandwiches are offered?
A.   24        B.  144              C.   17         D.   26
48.  Ten baseball teams entered the weekend tournament.  If there are no ties, in how many ways can the first 3 places come out?
A.   90      B.  80          C.   27           D.   720
49.   Evaluate: 
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                  A.   11,880       B.  48      C.  20736        D.  495
50.   The letters of the word “LAZYRBACKS” are put into a jar.  What is the probability that a letter selected at random will not be an “A”?
A.  1/10      B.  4/5        C.  1/5       D. 3/10
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